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INIS'TRUCTIONS
1. White your 12 digit {OS' 10 Roll Number and'sour name o top o the question Papes in the siven spaco,
2. Pllng up (mproper Roll Number may load to uravallability of Result,

3

This Question Puporcum Answer Sheet'must be ssbmitted o you teachor ftesthe completion of the test.
3 marks each and question 26 0 10 carry

‘The question paper consistsof 30 questions. Question 11025 ¢

5 ks each.
Wit youe answers(A. B. C. D or £} in the sivon box [ n the question paper with p
“The question paper cantains 4 pages.

Do not stast attempting the test paper uatil you

ony.

ssked 10 do so.

1. During the'extreme cold condition, youmay | 2. Which of the following ecosystems shows the.
have seen the peaple shivering due to cold ultimate source of enersy for all biotic factors in
What happens during shivering? an cosystem?

(4) Muscles attached to hair contract, pulling
tiny hair upright.

(B) “The arterioles that lad tothe skin capillarics
constrict that reducos flow of blood and cut
down the amount of heat ost by skin.

(C) Muscles contract and relax rapidly thore by
giving out 4-5 times more heat than when
the body is at rest.

) Body secretes adrenaline hormones

&) Nonoofthess Answor[]

@ Nanmofhoso answor (]
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[image: image2.jpg]5. There are two plants, one plant is illuminated
with green light and other plant of similar size
nd leaf area is illuminated with blue light. as
Shown in the following igures:

3

Ifall other conditions are identical, how the rate of
photosynthesis will be affected in both plarts?

) Tho plant under the bive light will have
roater rate of photosynthesis than the one
undertho green light.

) The plant under the grecn light will have
greates ra of phatosynthesis than the one
under the blue light

(C) Photosymthesis will occur at the same tato
inboth plants.

D) Neither plant will carry on photosynthesis.

(E) Noneof these Answwer|

R sadacists PR S

)
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+ Tears play an important role in the protection
afeyes. How?

foars show our emotions and thus make us

foelrelax.

(B) Teats clear our vision.

) Tears moisten the oyes and thus remove dust
and dit from our e3es

) Allof these

{8) Noneof these

sssvac ]

B R
. Whatshould be the feature of a balanced diet?
(4) 1t should have fruits and vegotables in
maimum quantity
) ltshould have roughage
(C) tshould have coreals
D) 1t should have al the nutrients required by

oucbody
sl

(6) Noneof these

Jack covers  distance of 225km by car. 1 the
Fire fourney the total time he takes is shrs.
Whatis s average speed ignoring the time he

takes for periodic halt?
(A) ok () askmh
a2k D) askmh

©

Noneof these

answer (]

Al fbver diget TRt

.

O tho Exeh when e junp fom  eht we
O o bt space we loat. What factor s
responsbl o st

3 Focooffction
® TheEarh

©) Forenofgrviaton
(D) Tension force

&) Nonsoftheso snswer [
rinacoversa joury of 200kimi o nevals,
e e inerea she covrs 0 disance of
ok hr . b speed s 25 In
o0 iieeva sho again covers 3 distance
e nhree bors o varyingspeed pr o
oo ki ot mition she tavels 200k
{A) Uniformand non uniorm moton

{3) Non unformand uiform moton

{C) Uniform and circular motion

{5y Nonuniform and clcular moton

{5) Noneorthese neswer ]

abi and Khasif crops are the major crops of

Tadio. Here s a st o crops. Categorized thent

i rabi and Kharif

\Wheat, millot, paddy; barley, peas, sugarcane

{A) Rabi crops: Whast, barley, millt. Kbarif
crops: Paddy, sugarcanc, peas

(8) Rabtcrops: Wheat, bl peas. Khafccops:
‘Paddy, sugarcane, miltet

() Rabi crops: Wheat, millet. Kharif crops:
Py sugarcans, barle, peas

D) Rabicrops:\Whest,basloy. mile, sugurcane
o crops: Paddy, pess

raswer ]

Noneof these

10. Ao is composed uf electrons, protons and

‘feutrons.Two amon three are charged particles
Where as third is neutral, Which two are
“harged pacticles and what kind of charge they
have?
(A) Protons: positively chasged

Floctrons: negaively charged
{8) Neutsons: positivly charsed

Protons: negatively charged

(C) Electrons: positively charged
Neutrons: negatively charged
D) Protons: positively charged

Neutrons: negatively charged
£) Noneof these

Anser (]
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13. A farmer throws cow dung in the field to
ncrease it fertility Ater few days he finds that
the cov dunghas completely vanished from the:
feld. How does it happen?

() Cow dung mixes with the soil dus to action
of soil

B) Cow dung mixes with the soil due to action
ofwater.

(€) Cow dung mixes with the soil due to action
of decomposers.

(D) Cow dung mixes with the soil due to

14 Which one of the following s non biodegradable
pollutant?
(A) Kitchen waste
) Agriculturewaste
(C) Pusticides.
(®) Carbon dioxide
(8) Noneof these

AT
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15, Given below is a grassland food chain:

Whichof th ollowingorganisms ar prodcersand
?

) Desr mouss is producsr and bacteri and
e dacomposers.

) Gram grass i prodcr and Dece mouse i

(C) Grama grass is producer and Bacteria and
Fungi are decomposers.

(©) Theroare o producers, oy consumers s

o the food chain and Doer mouss is

decompost
answer[]

) Nonoofthese
16. An animal can adapt 0 its environment due to

ts physical characteristics or behavioral

changes. Which of the following s an example

fadaptation dueto behavioral changes? (Select

two options)

(3) Lizands hibernate in winters

) Chameleon changos color

C) The loaves of cactus plant are reduced to
spines

(0 Animals living in warmer region hunt in
carly morning or evening to avoid extreme

Hoxcondtions
o

(® BothAand B

17, When you gooutin  bigh light from darkness
you feel pressure on your eses. Same thing
Happens when you enter in the dark aca from
Drisht area. What s the specific easan for this?
{3) Theavailabiity oflight
{8) The pressure of eyes
(€) Dueto openingof the iris
©) Duetocye lashes

nswer[]
s 7sc 3|

{E) Noneof these




[image: image4.jpg]18, Human heart has four chambers divided into
Ieftand ightsecions Whichone of ho ollowing
correclyrepresents thesa chambers?

8) Upporatzium, upper vetricle,lowararium,
loverveniricio

(B) Upperatrium, lower ventricle, upper atrium,
o sentriclo

0 Rightatrum, rght votile Lt i, et

enuicl
O

) Allofthese
(5] Noneof these

. Vitamins are integral partof our bod. Our body
getsvitamins from outside sources such as plant.
But one vitamin is manufactured by the body
itself, Whatis its name?

Answ

() VitaminC ®) VitaminD
(©) VitaminE: (®) Vitamin B complex
(8] Noncof thes Ansi

20, Which of the following can be the impac
‘malnutrition?
(A) Slow mental and physical growth
(8) Pronotainfection
(©) Pronotodiseasos
D) Alloftheser
(E) Noneof these.

asswr ]

21. You must have noticed that difforent types of
food have different types of colour. For example
mango is yellow and apple s red
They get the same sunlight then why their
colours are differen
(8) Because it s a natual process
{B) Because sunlight has many colours
(€) Because of the absorption ofight
D) Because ofthe wavelength of light that they

reflect”
dnowee ]

(€] Noneoi these
2. You go to the top of a building and drup a stone:

from there
‘What kind of motion tis?
(4) Uniform motion

(B) Non uniform motion
(€) Rectilinear mation

(D) Rotational motion

(E) Noneof these:

Answer[(]
s e [

23. Categorized them as conventional and
unconventional energy.
Futrol wind enerey, coal, diesel solar enersy,
tidal energy, hydroelectricity
() Conventional: Wind enesgy, solar energy,
tidal energy. Unconventional: Ptrol, diesel,
coal. hydroelectricity
Wind enorgy, solar enensy,
hydrocloctricity.

(©) Conventional: Potrol, diesol, coal,
hydroslecteicity. Uncosventional: Wind
energy, solar energy, tidal onargy

(D) Conventional: Potrol, diesel,
Unconventional: Wind snerzy,
tidal enesgy, hydroeloctricity

(&) Noneofthese

coal.

24, Newtos law of ravitation st tha
s i th iverso atlaccvery othe o,
When we throw s ball it comes down. A pee
Lo o Seavtation i atacts he corh a3 wll
hon why dors th eath no s up?

() Eathcomesupvery o

9 Graviatona forcedoss v workhero

{61 Bacaso o the diffroncs of the masses of
g

(D) Because of the difference of distance.

®) Noneof these smsor ]

25 Whatdoyou mean by habiat
() Notualling placo ot rgatsn
) Thesuroundings
(€) The entire ecosystem
D) The environment
Nonaofhiso snsver[]
Which one of the ollowing has autatrphic
nodaof itont

8] tion 0 Bt
@ Min ) v
Nonsaftheso answor[]

27, Which one of the following ccops is harvested

durlagspring ime?

) Gram 5 Maizo

(©) Cotton D) Jute

{5) Nonoof hose snover[]
REFGOS'TDAGH




[image: image5.jpg]28. Some unwanted plants grow along with the
original crops. These plants take nuirients from
the soil and thus hamper the growth of original
plants. Whatare these plans called?

(4 Hets St
© weods D) Bushas
® Nonootthes swaver ]
20 Whatistho basi difconcs b e
ond ot
DT —
i
9 Frlsers o il and masaros oo
et

(C) Fentlzers increaso the ertlity of the soil and
‘manures reduco the foriity o the soil

(©) Fertlizors reduce the fertilty of the soil and
manures increase the fortilityof the soil.

ansver[]

ctofland pollution?
B) Calamity
) Soil eosion

Aniver ]

30. Which one of the following
biodegradable pollutant?
(A) Wood ® Jue
(©) Rottenfaits (D) Plasties

) Nonsortheso Answor[]

1. Duringhe interval in a football match:players
are given cacrsy drinks. The purpose of
providing hese drinks s o ergizo theplayers.
Howw does the drink p o
bods?

(3) By conventingchemical cnergy to mechanical
enorgy and eatonergy.

®) By conventing potential enersy tochemical
enersy and heatcnergy

(©) Beconverting beatanersytochemical sncegy
nd mechavicol snergy:

©) By convertig chemical oncrsy o mechuniond

norgy and it onersy:
Answver[7]

20. Whatis the|
(A) Flood
(€) Weathering
(E] Noneof thise

(8) Noneofthec

REFAi0S'10/AGM

woving on Uhe flaos, What is the
force in Newton that the car exerts on 1

Hiass=20009m

@A) 1008
®) 1208

€} 5000

) 1200008

E) Noneof these

33, What will be the effect of the follan

() Mwill rosult in drier climats
@) Wwillresultin soist climate
(€) Increase in undergronr | witor
D) ticrease in moisturz of soil

%) Bothaand d

34 In an ccosystem, if burning of
increases the level of carbon 1
atmosphere, then which of the foilo
decrease the I
atmosphere?
(4) Growingtrees

) iceeasng the sumberof nicrorganisi
heocoyiom

() ncronsio the asber of i s s
ccossom

D) Cuttingtess

) Noneof theso Answer ]
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[image: image6.jpg]35. Humans utilize natural resources available on
the earth, Overuse of these resources causes
scarcity of these resources, All natural resources
replenish itselfover a period of time. Which of
the following natural resources will replenish
itselfin least time period?

(4) Water ) Fossil fucl

(©) Sulight ) Wood
Answer[]

{E] Noneofthese
6. Which of the follarwing will help in decreasing
fuel consumption, when driving a vehicle?
(Select any twa options)
() Drivingat variable speed
() Driving atslow speed
(C) Driving at high speed
(D) Driving at constant speed

(E) Nove of theso

Ansver ]

7. Why sodowns should b fumigated before storing
the gain?
) Toclean the godowns
(B) Togetrid of pests
€] Togetrd ofbigger animals
©) Togetrid of moistures

() None ofthese

Ansver[]

38. Which one of the following defines the mass of
abody’
(&) Total weight of the body
(B) Gravitational force exerted by the body
(€) Matter contained i the body
(D) Gravitational force exerted on the body

&1 Nonoofhse Answer[]

39. Whatisthe formula to find the potential energy?
) mxg

) mxgxa

(©) mxgxh

(D) Allof these:

(E) Nono of these

Answer ]

40. Which one of the following has definite shape.
and volume?
(4) Solid
®) Liquid
©) Gas
) Noneof these -

(€) None of these
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